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SPH3U - Unit 3




QUESTIONS

- Pg.249 # 1-3
- Pg. 254 #1-5
- Pg. 263 #31,34,37,39
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31. A 2600 kg truck travelling a@ams on the
brakes and skids to a stop. The frictional force from
the road is 8200 N. Use the relationship between

kinetic energy and mechanical work to determine the

distance it takes for the truck to stop. (5 2)
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34. A bungee jumper has a mass of 73 kg and falls a
distance of 120 m before the bungee catches and
sends the jumper upward. Usé'thellaw of conservation

of energy to calculate the speed of the jumper just
_%before the bungee catches. (5.3) &0
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37. A roller coaster descends 55 m from the top of the V= 5371 m_
first high point to the first lf)w point in the'track. The y - \Y\_,(
roller coaster converts gravitational potential energy S8
to kinetic energy with an.efheiencyof 50:09. What is ¢
the velocity of the roller coaster at the bottom of the V=230 I s
first low point? (5.4) En
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39. A cars engine is only 12 % efhcient at converting
chemical energy in gasoline into mechanical energy.
If it takes 18:000:N of force to keep the car moving
at a constant speed of 21 m/s, how much chemical
energy would be needed to move the car a distance

of 450 mrat this speed? (5.4) O
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